
Zero & Span

S e t h  B e r g e r :  C h i n a F l u x 2 0 2 3



Zero: Offset Error

Span: Gain Error

Instrument Drift

GainCO2 = [CO2]actual / ( [CO2]measured – [CO2]zero )

GainH2O = [H20]actual / ( [H20]measured – [H20]zero )



Zero gas or zero air generator

Reference CO2 cylinder

Dew point generator

Equipment



ECMon Software



Calculate Gain

GainCO2 = [CO2]actual / ( [CO2]measured – [CO2]zero )

GainH2O = [H20]actual / ( [H20]measured – [H20]zero )



https://www.campbellsci.com/videos/zero-and-span
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